ADJUSTMENT MANUAL

INSTALLATION AND

M000241

‘\//

FMT091001..02..01UK..02UK Func Wall-Floor Motorized

DE

ES
Fl
FR
NL
PL
RUS
ARB
SE
GR

Handbuch fur Installation und Anpassung
Manuale per l'installazione e la regolazione
Manual de instalacion y ajuste

Asennus- ja sdatdohje

Manuel d’installation et de réglage
Handboek voor installatie en instellingen
Instrukcja instalacji i konfiguracii

NHcTpyKuna

CJ]JLJJ}JPQ__}}Wig}_SﬂU

Monterings-

Eyxelpidilo

och justeringsmanua SMART MEDIA
e | "'A\" SOLUTIONS



2 FUNC WALL-FLOOR MOTORIZED

GB - Instructions for Mounting
Warning

A correct mounting is extremely important and this is not the responsibility of SMS Smart
Media Solutions AB. Faulty mounting may result in injury to persons or damage to
equipment. SMS will not be responsible in any way if the product has been mounted
incorrectly.

Mounting fittings are not included with the product for reasons of safety, since the
properties and bearing strength of walls/ceilings are specific for each case. Suitable
mounting fittings must be selected based on the material of the wall/ceiling. Obtain advice
from a specialist in the field or from a specialist shop concerning the choice of mounting
fittings. It is the responsibility of the installer to ensure that the wall/ceiling can support at
least four times the combined weight of the screen/projector and bracket.

The maximum load for this product is given in the table in these

installation instructions. The instructions for installation and use of the screen/projector
must also be followed with respect to the location and attachment of the screen/projector.

0 IT — Istruzioni per il montaggio
Avvertenze

Un montaggio corretto & della massima importanza e non & responsabilita di SMS Smart Media
Solutions AB. Un montaggio erroneo puo avere come conseguenza danni a persone o cose. SMS
declina ogni responsabilita di qualsiasi tipo se il prodotto e stato montato in modo scorretto.

Per motivi di sicurezza, la confezione non comprende alcun materiale per il montaggio in quanto la
qualita e la capacita di sostenere pesi della parete/del soffitto & individuale. Il materiale per il
montaggio deve essere scelto in base al materiale di cui € fatta la paretel/il soffitto. Fatevi aiutare da
uno specialista 0 da un negozio specializzato per scegliere il materiale per montaggio piu adatto al
vostro caso. E’ responsabilita di chi effettua I'installazione assicurarsi che la parete/il soffitto possa
sopportare come minimo quattro volte il peso combinato dello schermo/del proiettore e del supporto.
Carico max per questo prodotto come da tabella in queste istruzioni di montaggio.

Al momento del montaggio si dovranno seguire anche le istruzioni per I'installazione e 'uso dello
schermol/del proiettore che si vuole montare/fissare.

ES - Instrucciones para el montaje
Advertencia

El montaje del producto no es responsabilidad de SMS Smart Media Solutions AB y es muy
importante que el producto sea montado correctamente. El montaje incorrecto puede
ocasionar dafos personales y materiales. SMS no se responsabiliza con ningun tipo de
dafios o pérdidas causados por el montaje incorrecto.

Por razones de seguridad no se incluye ningun tipo de material para el montaje, ya que la
naturaleza y la capacidad de carga de paredes y techos son especificas en cada caso. El
tipo de material a utilizar estara en dependencia del material de la pared o el techo.
Consulte a un especialista sobre el material apropiado. Es responsabilidad la persona
encargada del montaje asegurarse de que la pared o el techo son capaces de sostener un
peso al menos cuatro veces mayor que el peso de la pantalla/del proyector y el soporte
combinados.

La carga maxima para el producto se especifica en la tabla incluida en estas
instrucciones para el montaje. En el montaje se deberan observar ademas las
instrucciones para la instalacion y el uso de la pantalla/del proyector que vaya a ser fijada
al soporte.

FR - Instructions de montage

Avertissement
Le montage doit impérativement étre effectué de fagon correcte et ne reléve pas de la
responsabilité de SMS Smart Media Solutions AB. Un mauvais montage peut occasionner des
blessures corporelles et des dommages matériels. SMS décline toute responsabilité en cas de
montage incorrect de ses produits.
Pour des raisons de sécurité, aucun matériel de montage n’est livré avec les produits, car la
nature et la capacité de soutien des murs/plafonds varient. Le matériel de montage est choisi
en fonction de la composition du mur/plafond. Pour vous aider a choisir le bon matériel,
consultez un expert dans ce domaine ou un magasin spécialisé. Il est de la responsabilité de
l'installateur de veiller a ce que le mur/plafond puisse supporter au moins quatre fois le poids
total de I'écran/vidéo-projecteur et de son support.
Charge max. pour ce produit, d'aprés le tableau figurant dans ce guide d'installation.
Lors du montage, les instructions d’installation et d'utilisation de I'écran/vidéo-projecteur
doivent elles aussi étre suivies.

DE - Montageinformation

Warnung
Eine korrekte Montage ist von groRter Bedeutung, und SMS Smart Media Solutions AB
kann dafiir keine Verantwortung (ibernehmen. Falsche Montage kann zu Personen- und
Sachschaden fiihren. SMS lehnt jede Art von Verantwortung ab, falls das Produkt falsch
montiert wird.
Aus Sicherheitsgriinden wird kein Montagematerial beigefiigt, da Beschaffenheit und
Tragkraft von Wand bzw. Decke unterschiedlich sind. Das Material fiir die Montage richtet
sich nach dem Material von Wand bzw. Decke. Bei der Wahl des geeigneten
Montagematerials sollten Expertise oder Fachhandel herangezogen werden. Der
Installateur tragt die Verantwortung dafiir, dass die Wand bzw. Decke mindestens das
vierfache Gesamtgewicht von Bildschirm/Projektor plus Halterung tragen kann.
Maximale Belastung fiir dieses Produkt gemaR Tabelle in dieser Montageanleitung
Bei der Montage missen auch Installations- und Benutzungsvorschriften fiir den
anzubringenden Bildschirm/Projektor beachtet werden.

FlI - Asennusohjeet
Varoitus

On tarkeaa suorittaa asennus oikein, eika asennus kuulu SMS Smart Media Solutions AB:n
vastuualueeseen. Vaara asennus saattaa aiheuttaa seka henkil6- ettd esinevahinkoja. SMS
sanoutuu kaikesta vastuusta, mikali tuote on asennettu virheellisesti.

Turvasyisté ei laitteen mukana toimiteta mité&n asennusmateriaalia, koska seinan tai katton
materiaali ja kantokyky vaihtelee. Asennusmateriaali valitaan seina- tai kattomateriaalin
mukaisesti. Pyyda apua asiantuntijalta tai alan liikkeesta sopivan asennusmateriaalin
valitsemiseksi. Asentajan vastuulla on varmistaa, ettad seinan/katton kantokyky on vahintaan
nelinkertainen suhteessa nayttolaitteen ja sen kiinnikkeen yhteenlaskettuun painoon.
Téaman laitteen maksimikuormitus on néhtavissa naiden asennusohjeiden taulukosta.
Ennen asennusta on perehdyttdva myds asennettavan tai kiinnitettavan tv:n/projektori
asennus- ja kayttomaarayksiin.

NL — Montagevoorschriften

Waarschuwing
Correcte montage is van absoluut belang en valt niet binnen de aansprakelijkheid
van SMS Smart Media Solution AB. Onjuiste montage kan tot persoonlijk letsel en
materiéle schade leiden. SMS kan niet op wat voor manier dan ook aansprakelijk
worden gesteld indien dit product op onjuiste wijze is gemonteerd.
Om veiligheidsredenen wordt geen montagemateriaal bijgevoegd, gezien het feit dat
de staat en het draagvermogen van plafonds/muren individueel zijn.
Montagemateriaal kan worden gekozen al naar gelang het materiaal van
plafond/muur. Raadpleeg een vakspecialist voor de keus van geschikt
montagemateriaal. De installateur moet vaststellen of het plafond/de muur minstens
vier keer van het gecombineerde gewicht van scherm/projector en steun kan
dragen.
Maximale belasting voor dit product volgens de tabel in deze
montagevoorschriften. Voor de montage moeten ook de installatie- en
gebruiksvoorschriften voor het te monteren scherm/projector in acht worden
genomen.

PL - Instrukcja montazu

Ostrzezenie
Firma SMS Smart Media Solutions AB nie odpowiada za prawidiowe przeprowadzenie
montazu, ktére jest rzeczg niezwykle wazng. Nieprawidtowy montaz moze spowodowac
obrazenia ciata oraz szkody rzeczowe. Firma SMS nie ponosi zadnej odpowiedzialno$ci
jakiegokolwiek rodzaju w przypadku nieprawidtowego zamontowania produktu.
Ze wzgledu na bezpieczenstwo nie zatgczamy zadnych elementéw montazowych, poniewaz
stan i no$nos¢ $ciany/sufitu mogg by¢ rézne w indywidualnych przypadkach. Elementy
montazowe nalezy dobra¢ odpowiednio do materiatu, z ktérego wykonana jest $ciana/sufit. W
sprawie doboru odpowiednich elementéw montazowych zasiegnij porady specjalisty lub
specjalistycznego sklepu. Obowigzkiem instalatora jest upewnienie sig, ze $ciana jest w stanie
uniesc¢ ciezar cztery razy wiekszy od tacznej masy ekranu i uchwytu.
Maksymalne obcigzenie tego produktu podano w tabeli zamieszczonej w niniejszej
instrukcji montazu. Podczas montazu nalezy rowniez postepowac zgodnie z instrukcjg
instalacji i uzytkowania samego ekranu LCD/ekranu plazmowego, ktéry ma by¢
zainstalowany/zamocowany.

RUS — NHCTpyKUMSA MO MOHTMPOBAHUIO
BHumaHune

MpaBunbHOE MOHTUPOBAHME NPOAYKTOB - O4EHb BAXHbI MOMEHT, 3a koTopbli SMS Smart
Media Solutions AB He HeceT OTBETCTBEHHOCTU. HenpaBunbHOe MOHTUPOBaHWE MOXET
NPVBECTU K paHEHWI0 NONb3oBaTens U NoBpexaeHuto obopyaosaHusi. SMS He HeceT
HUKaKoi OTBETCTBEHHOCTU 3a MOCNEACTBUS HEMPaBUMLHOTO MOHTUPOBaHKS NpoAykToB. Mo
NpUYMHe 6€30MacHOCTU B KOMMNEKT HE BXOAST MaTepuarbl Ansi MOHTUPOBAaHMS, MOCKOIbKY
Ka4yecTBO CTEHbI/MOTONKA U BEC, KOTOPbIV OHM CMOCOGHbI BbiAepXaTb, MHAUBUAYANbHbI.
Matepuanbi Ans MOHTMPOBaHMSA BbIGMPAIOTCS B COOTBETCTBUM C MaTepuasniom
cTeHbl/noTonka. O6pallaiTecs 3a MOMOLLBIO K CrieuuanicTam unum B creLmananpoBaHHble
MarasuHbl Npu BbIGOpe NOAXOASLWMX MaTepUanos Al MOHTUPOBaHUS. [py MHcTannsauumn
npoaykTa Bbl 06513aHbI MPOKOHTPONMPOBATL, YTO CTEHa MOXET BblAepXaTb kak MUHUMYM B
YeTbipe pasa Gonblie Beca akpaHa C KpenneHnem.

MakcumanbHas Harpy3ka Arnsi 3Toro npoAyKTa ykasaHa B Tabnuue B AaHHON
VHCTPYKLIMM MO MOHTUPOBaHMIO. [1py1 MOHTUPOBaHUM HEOBXOAMMO Taloke 03HAKOMUTLCS
C VHCTPYKLUVMEN NO UHCTannaumMm n akcnnyatuposaHuto LCD /nna3ameHHoro akpaHa,
KOTOpbIV Bbl MnaHupyeTte ycTaHOBUTb.

A

ARB_ L.¢ .Jﬂ‘ LY et A:";!J — g—.U—‘;

1l ax

Al A ypme Jlae Ganan Jan Y Sl aaoY) @l el 5+ Aainia 5 seay cul 3V
Al e oy iSliaals) Gl 36 3l B (S blad) i 1l b SMS Smart Media Solutions AB
Jal e ABA o sy ¢ siiall ol i Als Lo 53 0 Loga il smn by 00 Lalal Ll I35 SMS 41 (Jé
Y Jan e 138 iy sl o) Jliaall L 55 o s oY il a5 (38 55 ol (e (5 e Jlana
& dae L T Sladl cilend e saiai b elle Codud gl Jlaall 1 se e 55 Gavn il Sl 1o se LA o
e wd) Fle e JEYI das o il gl Sl 5 Glada A s sese 28 Lauliall Gl ) 13 5e sl die 1 sall
82018 e ) 5iSa 5 l/ASLAN Jlea ) Jisl 0 el dad ) e J8r Y e s (o 535 L3l (e 3Ty G agde 5 50
all pady) Kl ol amd Bl el o)l 8 clals eyl

058 5 AL Qo gi g £ gum sally (3laty Lo 28y ) 5 5 Sall/ALAD Loddiias ol cul 3 L1 ) L) Ll m Wl

SE - Monteringsinstruktion

Varning
En korrekt montering &r av stérsta vikt och ar inte SMS Smart Media Solutions ABs
ansvarsomrade. En felaktig montering kan resultera i person och sakskador. SMS
friskriver sig fran allt ansvar av vad slag det ma vara om produkten monterats
felaktigt.
Av sakerhetsskal bifogas inget monteringsmaterial da vaggens/takets beskaffenhet
och barférmaga ar individuell. Monteringsmaterial valjs efter materialet i
vaggen/taket. Ta hjalp av en specialist eller fackhandel for val av lampligt
monteringsmaterial. Det &r installatdrens ansvar att sakerstalla att vaggen/taket kan
bara minst fyra ganger den kombinerade vikten av skarm/projektor och faste.
Maxbelastning for denna produkt enligt tabell i denna monteringsanvisning.
Vid montering ska aven installations- och anvandarféreskrifter for sjalva
skarmen/projektorn som skall placeras/fastas iakttas.

GR - ITAmpogopics cuvapporoynong
Mpocoyn

H oot cuvappordynon-eykatdotoaon npénet va tpooeydel iaitepa 16t 1 SMS dev £xet duvatdmta va
avoldfet omowdnmote 00UV, AavOacévn Guvapprordynon propel va 0dnyoet o€ avOpdOTIVES Kot VAKEG
Ouiég, H SMS dev pmopet va avordPet omowodnmote gvhivn oe mepintmon AavBacuéving cuvappordynong—
£YKATAGTOGONG TOV TPOTOVTOC.

T Loyoug ao@uAeiog dev cupTEPIAAUPAVOVTOL VAIKE £YKATAGTAONG, S10TL TOGO 1} KOTAGKELT] 0G0 KoL 1] AvTox
TOV TOiXOL 1 NG 0poPNG dev pmopei va Tpokadopiotei. ' To Adyo avtd ta VAIKE avtd mpémet vo
TPOGUPUOLOVTAL GTOL YUPAKTNPIGTIKG TOV TOLXOL 1] TNG OPOPNG KAt 1] ETAOYY TOVG TPEMEL VOL YIVETAL OO
edkovg. O teyvikdg mov Oa mpofel oy eyKaTdoToon TPENEL VO VTOAOYIGEL OV O TOTXOG 1] 1] OPOPT| UTOPOVV VO
KPUTNGOVY TOLVAGYLGTOV TO TETPATAAGL0 Bpog TG cuokeviig mov Ba avaptOei (thhedpaon 1 projector) kot g
Béong.

ME£y16T0 (opTio Y10 0VT6 TO TPOIOV GOPPOVE PE TOV TIVAKY 6E CVTEG TIS 001)YiEg GUVEppROLOYN oG,

Kavtd m cvvapporoynon mpémet vo An@Oody vrdyn Kat 1 oyeTkEG 00NYieg TOL VIGPYOVLV GTHV TPOG AVEPTHON
GUGKEVY.




FUNC WALL-FLOOR MOTORIZED 3

GB - Warranty terms and conditions

SMS guarantees that a product that SMS has determined to be defective as a result of deficient
manufacture or material will be repaired or — if necessary — replaced, without cost, on condition that a
claim is made within the period of warranty, which is 5 years. The guarantee does not apply for
normal wear and tear.
In the event of a claim being made under the terms of the warranty, the product and the original
purchase receipt are to be returned to SMS. The name of the supplier and the date of purchase must
be clearly legible on the receipt. The owner is to pay the cost of returning the product to SMS, while
SMS is to pay the cost of returning the product subsequently to the owner.
The warranty provided by SMS does not apply under the following conditions:
« if the product has been drilled, mounted and/or used in any way that is not in accordance with the
instructions for use, or if it has been mounted using inappropriate mounting fittings.
« if the product has been modified or repaired by anyone other than SMS.
« if the defect has arisen as a result of external factors (that are not associated with the product),
such as lightning strike, water damage, fire, mechanical scratching, storage at extreme
temperatures, weather conditions, solvents or corrosive agents, faulty use, or carelessness.

* if the product has been used for equipment other than that specified on the packaging.

IT — Termini e condizioni della garanzia

1.

SMS garantisce che un prodotto che la stessa SMS ha constatato essere difettoso a causa
di difetti di costruzione o di materiale, venga riparato o, se necessario, sostituito
gratuitamente, a patto che il reclamo venga fatto entro il periodo di validita della garanzia — 5
anni. La garanzia non vale espressamente per una normale usura.
Nei casi in cui si faccia riferimento alla garanzia, si deve inviare a SMS il prodotto insieme
alla ricevuta d’acquisto in originale. Sulla ricevuta devono essere chiaramente leggibili nome
del fornitore e data d’acquisto. Le spese di spedizione a SMS sono a carico dell’acquirente;
mentre quelle per rimandare il prodotto al cliente sono a carico di SMS.
La garanzia SMS non é valida se:
Il prodotto & stato forato, montato e/e viene usato in altro modo rispetto a quello
descritto nelle istruzioni d’'uso, o & stato montato con un materiale non adatto.
« |l prodotto & stato modificato o riparato da altri all'infuori di SMS.
« Il difetto & sorto per cause esterne (che non dipendono dal prodotto) quali fulmini,
contatto con I'acqua, fuoco, graffi, conservazione a temperature estremamente basse
o alte, condizioni meteorologiche, solventi o agenti corrosivi, uso scorretto o
negligenza.
Il prodotto & stato usato per uni attrezzatura diversa da quella indicata sulla confezione.

ES GARANTIA Términos y condiciones

SMS garantiza que los productos con defectos de fabricacion o material, constatados por SMS, seran
reparados o sustituidos en caso de necesidad sin costo adicional, a condicién de que la reclamacion
se efecttie dentro del periodo comprendido en los términos de la garantia (5 afios). La garantia no es
vélida en los casos de desgaste producido por el uso normal del producto.

En caso de reclamacion se debera enviar, junto con el producto, el recibo original de compra. El
nombre del vendedor y la fecha de compra del producto deberan aparecer claramente legibles en el
recibo. SMS se hace cargo de los gastos de devolucién del producto. El duefio del producto se hara
cargo de los gastos por nuevo envio.

Esta garantia no sera valida:

+ Enelcaso de que el producto haya sido barrenado, montado o utilizado en alguna otra forma
que la indicada en las instrucciones, o en caso de que se haya utilizado un material inadecuado
para su montaje.

+ Enel caso de que el producto haya sido modificado o reparado por otro que no sea SMS

» Enelcaso de que el defecto haya sido producido por causas externas (que no pueden
achacarse al producto), como descargas atmosféricas, inundaciones, incendios, almacenamiento
a temperaturas extremas, condiciones climaticas, ralladuras, utilizacion de productos disolventes
o corrosivos, uso incorrecto del producto o descuido en su uso.

* Enelcaso de que el producto haya sido utilizado en combinacién con otros equipos que los
indicados en el embalaje.

FR - Conditions de garantie

1.

SMS garantit que tout produit jugé défectueux par SMS du fait d’'un vice de fabrication ou de
matériaux, sera réparé ou, si nécessaire, remplacé sans co(t supplémentaire, a condition
que la réclamation soit faite avant I'expiration de la période de garantie qui est de 5 ans. La
garantie ne couvre bien sdr pas les dommages dus a I'usure normale du produit.

Dans les cas ou la garantie s’applique, le produit doit étre retourné a SMS, accompagné de
I'original du regu ou de la facture. Sur le regu/la facture, le nom du fournisseur et la date
d’achat doivent figurer de fagon parfaitement lisible. Les frais d’expédition pour le renvoi du
produit sont & la charge de I'acheteur mais les frais de retour seront pris en charge par SMS.
La présente garantie ne s'applique pas lorsque :

+  Le produit a été percé, monté et/ou utilisé, d'une fagon non conforme aux instructions
d'utilisation ou monté avec des matériaux de montage inappropriés.

+  Le produit a été modifié ou réparé par un tiers ne faisant pas partie de SMS.

«  Le défaut a été occasionné par des facteurs externes (non liés au produit lui-méme)
comme la foudre, les dégats des eaux, le feu, les rayures, un stockage a températures
extrémes, les conditions climatiques, I'usage de solvants ou d’agents corrosifs, une
utilisation inappropriée ou encore un entretien négligent.

*  Le produit a été utilisé pour un équipement autre que celui mentionné sur I'emballage.

DE - Garantlebedlngungen

SMS garantiert, dass ein Produkt, bei dem SMS Defekte infolge von Fabrikations- oder Materialfehlern
feststellt, kostenlos repariert oder, falls notwendig, ersetzt wird, sofern die Reklamation innerhalb der
gliltigen Garantiezeit von 5 Jahren eingereicht wurde. Die Garantie gilt ausdriicklich nicht fiir

normale Abnutzung.

Im Falle einer Reklamation muss das Produkt mit der Originalquittung an SMS geschickt werden. Auf
der Quittung miissen Name des Lieferanten sowie Einkaufsdatum deutlich lesbar sein. Die
Versandkosten (ibernimmt der Besitzer; die Riickkosten (ibernimmt SMS.

Die SMS-Garantie gilt nicht:

« Falls das Produkt anders als der Gebrauchsanleitung entsprechend gebohrt, montiert und/oder
benutzt oder mit ungeeignetem Montagematerial angebracht wurde.

«  Falls das Produkt von Personal verandert oder repariert wurde, das nicht zu SMS gehort.

+  Falls der Defekt infolge duRerer Ursachen, die nicht mit dem Produkt zusammenhangen,
entstanden ist: wie Blitzschlag, Wasserschaden, Brand, Schrammen, Aufbewahrung in extremen
Temperaturen, Wetterverhaltnisse, Lésungsmittel oder atzende Mittel, unsachgemafe Benutzung
oder Nachlassigkeit.

* Falls das Produkt fiir eine andere Ausriistung benutzt wurde, als auf der Verpackung angegeben
ist.

Fl - Takuuehdot

SMS takaa, etta tuote, j nka SMS toteaa vialliseksi valmistus- tai materiaalivian johdosta,
korjataan tai mikali a vaihdetaan maksutta, edellyttden, ettad reklamaatio
tehd&an takuuajan — 5 vuotta — sisalla. Takuu ei koske nimenomaan normaalia kulumista.
Takuuseen vedottaessa tulee tuote palauttaa alkuperaisen ostokuitin kanssa SMS:lle.
Kuitista tulee selvasti nakya tavarantoimittajan nimi ja ostopaivays. Asiakas maksaa
palautuksen Iahetyskulut, SMS taas korjatun tuotteen lahettamisen asiakkaalle.

SMS:n takuu ei ole voimassa:

« Jos tuotetta on porattu tai jos se on asennettu ja/tai sitd on kaytetty kayttdohjeiden
vastaisesti tai jos se on asennettu sopimatonta asennusmateriaalia kayttamalla.

» Jos tuotetta on muuntanut ja korjannut joku muu kuin SMS.

« Jos vika johtuu ulkoisista tekijoista (joilla ei ole mitd&n tekemista tuotteen kanssa),
kuten salamanisku, vesivaurio, tulipalo, naarmuuntuminen, séilytys mmaisissa
lampdtiloissa, sadolosuhteet, liuotinaineet tai syovyttavat aineet, vaara kaytto tai
huolimattomuus.

+ Jos tuotetta on kaytetty jollakin muulla varustuksella kuin tuotepakkauksessa
mainitulla.

NL — Garantievoorwaarden

1.

SMS garandeert dat een product dat door SMS ten gevolge van in gebreke gebleven vervaardiging of
gebrekkig materiaal als defect wordt beschouwd, kosteloos wordt gerepareerd of indien noodzakelijk
vervangen, onder voorwaarde dat de klacht binnen de geldende garantieperiode van 5 jaar wordt
ingediend. De garantie is uitdrukkelijk niet van toepassing op normale slijtage.

PL - Warunkl gwarancji

Firma SMS gwarantuje, ze produkt uznany przez firme SMS za wadliwy z powodu wad
wykonania lub materiatu zostanie naprawiony lub w razie potrzeby wymieniony nieodpfatnie,
pod warunkiem ze reklamacja zostanie ztozona w okresie waznosci gwarancji — 5 lat.
Gwarancja nie obejmuje normalnego zuzycia.

2. Indien er een beroep op de garantie wordt gedaan, moet het product samen met de originele koopbon 2. W przypadku sktadania reklamacji gwarancyjnej produkt nalezy przesta¢ do firmy SMS wraz
aan SMS worden opgestuurd. Op de koopbon moeten de naam van de leverancier en de datum van z oryginatem dowodu zakupu. Podane na dowodzie nazwa dostawcy i data zakupu musza
inkoop duidelijk leesbaar zijn aangegeven. Eventuele onkosten voor deze verzending komen ten laste by¢ czytelne. Koszty przesytki do serwisu pokrywa wiasciciel, a koszty przesytki zwrotnej
van de eigenaar; de retourkosten zullen door SMS worden betaald. pokrywa firma SMS.

3. De garantie van SMS is niet van toepassing: 3. Gwarancja firmy SMS traci waznos¢:

Indien er in het product gaten zijn geboord en/of indien het is gemonteerd of gebruikt op andere « Jezeli produkt zostat przewiercony, byt zamontowany i/lub uzytkowany w sposéb
wijze dan in overeenstemming met de gebruiksaanwijzing, of indien het product is vastgezet met niezgodny z instrukcjg uzytkowania lub zamocowany za pomocg nieodpowiednich
ongeschikt montagemateriaal. elementéw montazowych.

+ Indien het product is gemodificeerd of gerepareerd door een andere partij dan SMS. « Jezeli produkt byt przerabiany lub naprawiany przez kogo$ innego niz firma SMS.

« Indien het defect is ontstaan ten gevolge van externe oorzaken (die niet met het product te « Jezeli usterka powstata w wyniku dziatania czynnikéw zewnetrznych (niezwigzanych z
maken hebben) zoals inslag van bliksem, waterschade brand, krassen, opslag in extreme produktem), takich jak uderzenie pioruna, uszkodzenie przez wode, pozar,
temperatuur, weersomstandigheden, c 1 of bijtende mi 1, onjuist gebruik of zarysowanie, przechowywanie w skrajnych temperaturach, czynniki atmosferyczne,
onachtzaamheid. rozpuszczalniki lub $rodki zrace, nieprawidtowe uzytkowanie lub zaniedbanie.

* Indien het product is gebruikt voor een andere dan de op de verpakking aangegeven uitrusting. *  Jezeli produkt byt uzywany do zamocowania sprzetu innego niz podano na

opakowaniu.
RUS FapaHTUIHbIE YCNOBUSA ARB- Sladal) shydi— (2 2

SMS rapaHTupyeT, 4TO HencnpaBHbIi NpoayKT 6yaeT GecnnaTtHoO OTPEMOHTUPOBaH UNK
3aMeHeH HOBbIM, ecrii SMS npusHaeT ero 6pakoBaHHbIM M0 NPUYNHE HEKA4YECTBEHHOTO
NPOM3BOACTBA WM MaTepuana - Npu YCioBUM, YTO O HEUCTPABHOCTYW ByAeT 3asiBlieHo B
TeYeHuUn rapaHTuinHoro nepuopa (5 ner). MapaHTus He NOKPbIBAET PEMOHT U BO3MELLEHNE
M3HOLLIEHHbIX MPOAYKTOB.

[1ns nony4eHns ycnyr no rapaHTuv NPoAYyKT C YEKOM (B OpuriHane) HeoGXOAUMO OTNPaBUThL
B KOMNaHuio SMS. Ha uyeke [0mkHbI BbITb YETKO yKasaHbl NOCTaBLUMK 11 AaTa MOKYMKu.
Bnapeneu npogykta cam onnaivsaeT oTnpasky npogykrta B SMS; ctoumocTb o6paTHoi
nocbinku onnaynsaetr SMS.

[apaHTs SMS He nokpbIBaeT creaytoLlimne crnyyau:

« Ecnu npoaykT 6bin NnpocBepneH, MOHTUPOBAH Uy 3KCNIyaTUpoBaH cnocobom, He
yKasaHHbIM B NpunaraeMoi WHCTPYKLMM MO SKCNyaTaLuu, Unu yKpenmneH
HENoAXOASLLMM MaTepuanom s MOHTUPOBaHWS.

«  Ecnu npogyKT 6bin U3MEHEH UMK OTPEMOHTVPOBAH NULIOM, He paGoTatoLUM B
komnaHun SMS.

«  Ecnv npuyvHON HENCNpaBHOCTU SIBNAETCA BNUSIHUE BHELUHWUX (hakTopoB (He
OTHOCSILLIXCS K CAMOMY MPOZYKTY), Takux Kak yaap MOSHUM, CbIPOCTb, NoXap,
LiaparuHbl, XpaHeHue B yCrIOBUSIX AKCTPEMAnbHON TeMMepaTypbl, KMMaTudeckue
YCIOBWS, PaCcTBOPUTENb UMK pasbeaalollye BelecTsa, HenpaBubHas akcrnnyaraums
UM HeBPEXRHOCTb.

+  Ecnu npogyKkT 6bin 1cnonb3oBaH Anst 060pYA0BaHNs!, He YKa3aHHOTO Ha yrnakKoBKe.

Raadiuall 13 gall 8 ga 3 Ty ainadll 3 Jl
5 bl 8 5 (paia g il Adlnall s i 258 5 5 il i i Ty Slaal) st 53 0o sl b

Tl s Janiy b ang (g sadiall (o Ll gy IS e ) a5 5 ol (e oyl Jomy paniais b cans

Al o 15 Jlerina) Cilade 2allae 48y sl 7 sl Laaii) |5 gani 1y ol 5 i Jla 3

540 delal sl i (g stially Gl V)
5 ale 45 om cba a0 Ty (SalSaal) (2asl Ty Gyl 5 elall Gim pell Aty Sleall i3
iy T Aspesall 2 sLasS el Slead) (imyas 15 Balial) I dnsi Ty b dikay)

Leilatia 8 Jle G 2n 5 g ol la (3 SMS A8 el - |

sl aplal) i) ais ¥ laall (b e Usin B g
SMSA LS ) lati) le ) Jea s gen sl sy clancall 358 JNA (i il AUl Jlas 522

bl ) 7 sl sle) CallSs SMS A1s Jeadi laiw SMS 414 )z sisall
Al YR 8 Il il e SMS ALS (e ptiall glaall b 3

Asulie e i 1o e leddiuly 4

SMS A e s al 4d Ty AT Gl 8 ez siial) b |y Jiaa Jla 3 W0

AU ise oo @il dhall 1 3 W

DYl 5 gz siiall LBl Laaiiny)

sl ade e il Lia eS8 laa L 29 siiall Lestin Jls 3 4

SE - Garantivillkor

1.

SMS garanterar att en produkt som av SMS konstateras vara defekt till foljd av bristande tillverkning
eller material, repareras eller om nodvandigt ersattas utan kostnad, forutsatt att klagomalet meddelas
inom giltig garantiperiod — 5 ar. Garantin géller uttryckligen inte fér normalt slitage.

| de fall garantin &beropas, skall produkten tillsammans med inkdpskvitto i original skickas till SMS. Pa
kvittot skall leverantérens namn och inkdpsdatum vara tydligt lasbart. Kostnaden for tillsandningen star
agaren for; returkostnaden betalas av SMS.

SMSs garanti galler inte:

*  Om produkten borrats, monterats och/eller anvénds pa annat satt &n i enlighet med
bruksanvisningen, eller satts upp med icke lampligt montagematerial.

+  Om produkten har modifierats eller reparerats av nagon annan an SMS.

+  Om defekten har uppstatt till foljd av yttre orsaker (som inte beror pa produkten) sa som
blixtnedslag, vattenskada, brand, repning, férvaring i extrema temperaturer, vaderférhallande,
I6sningsmedel eller fratande medel, felaktig anvandning eller vardsloshet.

¢ Om produkten har anvants fér en annan &n den pa férpackningen angivna utrustningen.

GR - Opm gyyoimong

GIUHOTTOONKE TO TPOTOV Y1t SLUPOPETIKO GUOKEVEG OO AVTEG TTOV AVAPEPOVTAL GTI] GUGKEVUGIA TOV
i 0 TS S
TPOTOVTOG.

H etaipeia SMS eyyvaron o1, £dv SromotmBovy aotoyies Tapaymyng 1 VMKOV o€ £va
TPOTOV, avt6 emdophdveton iy, oy aviykn, aviikadictotal, pdcov yvootonomdei o
TPOPAN L EVTOG TOV YPOVOL £YYiMoNG TV 5 etdv. H eyyinon dev ioydet ot kapio
mepintmon Yo phopég puotoroyikés.

T nepintoon npofiipotog To mpoidv mpénet va anootohel oty SMS pali pe mv
TPOTOTVTN OOSEEN ayopdc. TV amddelén TPENEL v £ivon ESAKPLTE, TOGO TO GVOWL TOV
mpoundevt 660 Kat N Nuepounvia ayopdg Tov mpoidvrog. To £Eodo amocToANg Kot
emoTpoig T averapfaver n SMS.
H eyyomon SMS 8ev oy0et 0TI TEPMTAOGELG TOL:
*  dev akorovbniBnkay ot 0dnyieg cuvappordynong kot yprong 1 dev ypnotponomfnke
TO KATAAANLO VAIKO EYKOTAGTAONG.
*  &ywav PETATPOTEG 1] EMOKEVEG GTO TIPOIOV (d TPOCMTIKS OV Sev aviikel ot SMS
* 10 TpOPINpa TPokAOnke amd eEOTEPIKG aitior OV eV £OVV GYEC LE TO TIPOIOV,
ONOG: TTOGT KEPOVVOD, TANLUOPE, TOPKOYLE, TPPES, vIepPohikég Beppokpacics,
Kapikég cuvhikeg, SahvTikd 1| To&ikd vYpE, akaTdAAnin xpron 1 apéieia




FUNC WALL-FLOOR MOTORIZED

Declaration of conformity GB
Manufacturer: SMS - Smart Media Solutions AB
Hastholmsvagen 32, 5th Floor

SE-131 30 Nacka

Sweden

hereby declares that:
Func Wall-Floor Motorized
model series FMT091001

has been manufactured such that it conforms to
the following EU directives:

-the Machinery Directive 2006/42/EC
-the EMC Directive 2004/108/EEC
-the Low Voltage Directive 2006/95/EC

Nacka 23- 09- 2013
;““@--‘ - Q)
|

lund
Managing director

DICHIARAZIONE DI CONFORMITA IT

Produttore : SMS Smart Media Solutions AB
Hastholmsvagen 32, piano 5

SE- 131 30 Nacka

Svezia

attesta che il prodotto:
Func Wall-Floor Motorized
Modello FMT091001

é fabbricato in accordo con le seguenti direttive della EU:

-Direttiva macchine 2006/42/EC
-Direttiva sulla compatibilita elettromagnetica 2004/108/EEC

-Direttiva sulla bassa tensione 2006/95/EC

Nacka, 23- 09- 2013

o)

Dan Berglund
Amministratore Delegato

Declaracion de conformidad ES
El fabricante: SMS - Smart Media Solutions AB
Hastholmsvagen 32, plan 5

SE-131 30 Nacka

Sweden

certifica que el producto:
Func Wall-Floor Motorized
modelo FMT091001

se fabrica en conformidad con las siguientes Directivas
del Consejo relativas a la aproximacion de las legislaciones
de los Estados Miembros de la CEE sobre:

‘Méaquinas (2006/42/EC)

-Compatibilidad electromagnética (2004/108/CEE)
-Baja tension (2006/95/CEE)

Nacka, Suecia, 23-09-2013

l-@, __:]u_c)

Da und
Director Gerente

Déclaration de conformité FR
Fabricant : SMS - Smart Media Solutions AB
Héastholmsvagen 32, plan 5

SE-131 30 Nacka

Suede

atteste par la présente que le produit :

Func Wall-Floor Motorized

modeéle FMT091001

est fabriqué en conformité avec les directives CE suivantes :

-Directive 2006/42/CE relative aux machines
-Directive 2004/108/CEE relative a la compatibilité

électromagnétique

Nacka le 23 -09 -2013

L8
und
PDG

DE

Erkldrung der Ubereinstimmung

Hersteller: SMS - Smart Media Solutions AB
Hastholmsvagen 32, plan 5

SE-131 30 Nacka

Sweden

versichert hiermit, dass:
Func Wall-Floor Motorized
Modellserie FMT091001

in Ubereinstimmung mit folgenden EG-Richtlinien
hergestellt ist:

-Maschinenrichtlinie, 2006/42/EG
-EMC-Richtlinie, 2004/108/EEG
Niederspannungsrichtlinie, 2006/95/EG
Nacka, 23 -09 -2013

l-@, __:]u_c)

Dai d
Geschaftsfihrer

Yhdenmukaisuusvakuutus FI

Valmistaja: SMS - Smart Media Solutions AB
Hastholmsvagen 32, plan 5

SE-131 30 Nacka

Sweden

Vakuuttaa taten, etta:
Func Wall-Floor Motorized
mallisarja FMT091001

on valmistettu seuraavien EY-direktiivien mukaisesti;

-Konedirektiivi 2006/42//EY
-EMC-direktiivi, 2004/108/EEC
-Matalajannitedirektiivi, 2006/95/EC

Nackassa 23 -09 -2013
;““@--‘ o Q)
|

Dai laind
Toimitusjohtaja

C€

-Directive Basse Tension 2006/95/CE
NL

Verklaring van overeenstemming

Fabrikant: SMS - Smart Media Solutions AB
Hastholmsvagen 32, plan 5

SE-131 30 Nacka

Zweden

verklaart hierbij dat:
Func Wall-Floor Motorized
modelserie FMT091001

zijn vervaardigd in overeenstemming met onderstaande
EU-richtlijnen:

-Machinerichtlijn 2006/42/EG

-EMC-richtlijn, 2004/108/EEG
-Laagspanningsrichtlijn, 2006/95/EG

23%-2013

Dan Berglund

C€

Deklaracja zgodnosci PL
Producent: SMS - Smart Media Solutions AB
Hastholmsvéagen 32, 5 p.

SE-131 30 Nacka

Szwecja

Niniejszym o$wiadcza, ze produkty:
Func Wall-Floor Motorized
seria FMT091001

zostaty wyprodukowane zgodnie z ponizszymi dyrektywami
Wspolnoty Europejskiej:

-Dyrektywa maszynowa, 2006/42/WE

-Dyrektywa o kompatybilno$ci elektromagnetycznej (EMC),
2004/108/EWG

‘Dyrektywa niskonapieciowa (LVD), 2006/95/WE

C€

Nacka, 23 -09 -2013

l-@, __:]u_c)

ﬂoaepeu HOCTb O COOTBETCTBUM

RUS

Mpoussoautens: SMS - Smart Media Solutions AB
Hastholmsvagen 32, 5-i1 atax

SE-131 30 Nacka

LBeuus

HacToswum 3aBepsietcs, 4To:
Func Wall-Floor Motorized
cepuv FMT091001

cAenaH cornmacHo cregyowmm avpektream EC:
-AupekTuBa no mawumHocTpoeHuto 2006/42/EC

-EMC-gupektuBa 2004/108/EEC
-AnpekTuBa no HM3KkUM HanpsxeHnam 2006/95/EC

C€

Nacka 23 -09 -2013

l-@, __:]u_c)

Directeur Dan urid Dan Bel
Dyrektor Naczelny [MaBHbIN AvpekTop
ARB Gl sagd | Forsakran om verensstimmelse SE ARAWON TICTETNTAS GR

SMS - Smart Media Solutions AB
Hastholmsvagen 32, plan 5
SE-131 30 Nacka

SWEDEN

Func Wall-Floor Motorized: gl & 1 £3
FMT091001 s 725

§4200 g1 dasy Y G adean
2006/42/EC <l daladl ol 1
Agglaling g JEIY) Aas Sl Auslsll 2004/108/EEC sl i

2006/95/EC Limisid! 5l fudall Zlald )

Nacka 23 -09 -2013

S

Tillverkare:

SMS - Smart Media Solutions AB
Héastholmsvéagen 32, plan 5
SE-131 30 Nacka

Sweden

Forsakrar harmed att:

Func Wall-Floor Motorized

modellserie FMT091001

ar tillverkade i 6verensstéammelse med foljande EG-direktiv;
-Maskindirektiv 2006/42/EC

-EMC-direktivet, 2004/108/EEG

-Lagspanningsdirektivet, 2006/95/EG

Nacka, 23-09-2013

l-@, __:]u_c)

und
Verkstéllande direktor

KataokeuaoTig:
SMS - Smart Media Solutions AB
Hastholmsvagen 32, plan 5
SE-131 30 Nacka
Sweden

BeBaiwvel pe v rapoloa oTi:
Func Wall-Floor Motorized
oelpd poviéhou FMT091001

£XEI KATOOKEUAOTEI O€ CUPPOPPWON PE TIG aKOAOUBES
odnyieg NG EE:

-Odnyia Tepi pnxavwy, 2006/42/EE
-Odnyia nAektpopayvnTikig cuppatdrnTag, 2004/108EOK
-Odnyia xaunAng taong, 2006/95/EE

Nacka 23 -09 -2013

Y TLJ

Dan Berglund
AieuBOvwy Z0uBoulog




Instructions for use

FUNC WALL-FLOOR MOTORIZED

(&)

To heighten the display,
press arrow up!

To lower the display,
press arrow down!

GB

ES
FR
DE
FI
NL
PL
RUS
ARB

GR

Caution! Risk of crushing
Attenzione! Rischio di schiacciamento
iPrecaucion! Riesgo de aprisionamiento
Attention ! Risque d'écrasement
Achtung! Risiko des Zerquetschens
Varoitus! Puristumisvaara
Voorzichtig! Beknellingsgevaar
Uwaga! Ryzyko przygniecenia
BHumaHne! Bo3MOXHbIN pyCK 3aLLeMneHns
PHOSERI G

Varning! Klamrisk

Mpoooxn! Kivduvog auveAipng.

-
T
\\

Caution!

Caution!

o)

Not for
children!

Children may use the product only

under supervision of an adult!

¥

¥

120 kgs




ASSEMBLY INSTRUCTIONS

YOU WILL NEED

Display (1x)

NUMBER OF PERSONS REQUIRED

|l



LIST OF PARTS

Al (1x)

B1 (1x)
%é
&
N
~J/
=~
S
N Uii
i e
Il .U
. I
1 U ]
Il
il
<\
S1 [M6x10] S2 [M6x8]
(2x) (6x)
v % T @
¥ @
T @

FUNC WALL-FLOOR MOTORIZED 7

B2 (1x) S4 (2x)
B3 (1x)

S3 [M6x10] S4 [M6x20]
(4x) (4x)
¥ ¥ % %

v 5



8 FUNC WALL-FLOOR MOTORIZED

LIST OF PARTS (cont.)

C1 (1x)

SCREW LIST

st §  Screw M6x10

S2 &  Screw M6x8

s3 @  Screw M6x10 DIN931/933
S4 % Screw M6x10

S5 > Double sided tape

K1 SCREW KIT

L€
@

Screw M6x10
Screw M6x16
Screw M6x30
Screw M8x20

Screw M8x30

Screw M8x40

Washer M6

Multiple washer

Plastic spacer 8,2/15x5
Plastic spacer 8,2/15x10

4x
4x
4x
4x



FUNC WALL-FLOOR MOTORIZED 9

1 Mark Height

+ 1

Top Height of

wall plate = 500 mm

Mark dfrill holes
(4%)

Drill
holes
(4x)

) Min 70mm 4
i i [IRIVIY




Dismount storage cover

N\~

Dismount motor cover




FUNC WALL-FLOOR MOTORIZED 11




12 FUNC WALL-FLOOR MOTORIZED

8 Adjust o)

brackets

R
«W\{
— 5

i

/ Loosely attach
) screws to hold
N bracket in place

S2 [M6x8] & (6x)

Mark drill holes (4x)

Remove screws

10 3 11 \

&
w«

i |I‘\/'i' EE 2.
ii T ™
g ) T

N Remove brackets

Remove S2 [M6x8] ¥ (6x) Remove stand




FUNC WALL-FLOOR MOTORIZED 13

12

Drill holes (4x)

P Min 70mm 4
TRVEEEE A

I. I} .i: ll I i h'l“llfl]:.

13

Mount stand to floor

Attach S2 @ (6x)

Level




14 FUNC WALL-FLOOR MOTORIZED

14

Tighten
S3 (4x)

_~""Secure "~

N

15

S1 [M6x10]

Mount tablet/
laptop shelf

E2 (1x)

S1 [M6x10] & (@)




FUNC WALL-FLOOR MOTORIZED 15

16

16. A

Prepare
display frame

16. B

Mount display
frame

S4 [Mex20] g (4X)

/

A

Tighten all




16 FUNC WALL-FLOOR MOTORIZED

1 7 P Prepare display brackets
oo R for mounting
Y
SR
N r—-— - - - - - - - - - - T T -0
|
\
| Loosen . UK
Il | Side |4
| X
< p
\
\
|

18

Mount brackets
on display

o— K1

K1 sCrRew KIT




FUNC WALL-FLOOR MOTORIZED 17

19

AN

Mount display
on stand

/4
S




18 FUNC WALL-FLOOR MOTORIZED

20

Secure (2x)

2. 0 3.
Tighten ﬂ Secure!




FUNC WALL-FLOOR MOTORIZED 19

21




20 FUNC WALL-FLOOR MOTORIZED

22

Mount cover

S1[M6x10] § (2X)

23

Attach remote holder
to underside of display
using 2-sided tape

S5 <& (2%




24

/

U

Use space for
cable storage

Mount
cover




22 FUNC WALL-FLOOR MOTORIZED

Set Motors to Zero (optional)

ik

Connect
remote
to motor!

G
\
(

7 /

|

Connect
power

[
5

Connect
to power!

")
o

lowest
position!

i

Release
‘down' button!

;0

Disconnect
power!

>

Proceed with step
no. 6




FUNC WALL-FLOOR MOTORIZED 23

PRODUCT DIMENSIONS

Rev.D  we reserve the right to introduce changes in the product specifications after the publishing of this document

min 200 - max 800

r T 223\
o 32
° I ]
o ° ° N [ [
S . .
3 fr — : T Ty
o
& 0 N T oy R S
= ] Ry o] ==
§= 47
= i
il ! |
o
g
3
1S
&
|| || s ||
=
E
[18,748] 3
476 5
h= —
- E
1 | § =
— S (&]
5|
Lo} % [~
§_§ [0,787]
=, 20
[ ! [6,299]
24,016 160
610 =
[1,772]
45
':‘o ——©
38 2
(3 ! b
53 1 :EC:
[35,827]
910 —1©
[36,142]
918
v

All dimensions in mm.
Dimensions in [brackets] are in inches.

Doc no: M000241

2024-11-11

SMS Smart Media Solutions AB
Hogbergsgatan 26B, 116 20 Stockholm, Sweden

SMART MEDIA
www.smartmediasolutions.com "'A\" SOLUTIONS
mailto:info@smartmediasolutions.com



	M000241_Page_01
	M000241_Page_02
	M000241_Page_03
	M000241_Page_04
	M000241_Page_05
	M000241_Page_06
	M000241_page_07
	M000241_page_08
	M000241_page_09
	M000241_page_10
	M000241_page_11
	M000241_page_12
	M000241_page_13
	M000241_page_14
	M000241_page_15
	M000241_page_16
	M000241_page_17
	M000241_page_18
	M000241_page_19
	M000241_page_20
	M000241_page_21
	M000241_page_22
	M000241_Page_23

